S»J.GORLQ

MORSETTERIE
MILANO

TECHNICAL OFFICE

OPACER
FROM 3 BUNDLE CONDUCTORS
T0 2 BUNDLE CONDUCTORS

DIRG N. LS 6741

SCALE

DRAWN DATE

APPROUVED DATE

DATE

UPDATES

DRAWN APPROVED

460 =2

HEX. NUT M10

Stainless steel

SPRING WASHER A £10,5

Stainless steel

BOLT M16x50

Stainless steel

HEX. NUT M12

Stainless steel

SPRING UASHER A #£12

Stainless steel

WASHER 13x24

Stainless steel

HEX. BOLT M12x6@

Stainless steel

KEEPER

C 6049 Al alloy

JUMPER

LS 5256 Al alloy

N (W | |U O | |00 (WO

CLAMP (BODY)

LR 6743 Al alloy

—_

SPACER PLATE

LR 6742 Al alloy

DESCRIPTION

N DRG. | o MATERIAL




